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1Bl g A3 J1aw JS) (ddaie (pe HLASN) A g gal! Al -% of

1- Which graph represents the correct A8l ey ko JS & é" -\
relation between the electric potential Ot gl (85m8 (ymid Aiuiaal |
difference between the 2 terminals of the | 5. 5, a4t aegizen YOS
fixed resistance and the ammeter reading

851y A yd D90y Aoyl
at the same temperature?

N

R

®

U B

@2 @4 @3 @1

2- The figure illustrates a closed electric circuit.
When the switch (K) is opened, so, .......

(Adlae Ao »gS 3,008 JSAT Jias =Y
..ol (K) zliae zid wias

K R
T W]
ve MV A
IR
R
WA
@ The ammeter reading decreases, Lodess (Ja3 yra¥ 1 3o1,8 @
while the voltmeter reading increases. 31353 Yt gt e 1,8
@ The ammeter reading increases, while | 35/53 21333 yie¥13s1,3 @
the voltmeter reading decreases. A5 yoeeid sal
@ The reading of both ammeter and Seea¥l (g JS Be1,8 @
voltmeter decreases. PJE el 54t
@ The reading of both ammeter and BETL (WY Js 5213 @
voltmeter increases. 3155 yieeid gatly
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3- The figure represents a part from i S 8303 (ya 12 jx YK gy <Y
a closed electric circuit. The equivalent | 4-@ISa doglial) dad ol2
resistance of the shown combination Amidgal) Olaglial) Ao gonal
equals ....... oo Solus mutly

R
R
R
—> ,\/ >
R R

4- In the shown closed electric circuit: s JSETL LaS 4o 5gS 3,508 it - ¢
L 20
> NV
40
VB
IZ r=0
> ANV VA
I 3Q
I2VB
< |I
r=0
. I I
Then, the ratio between: T e cee Golud I_s Ol A 12
2
2

@ 1 ® 3 © @ 7
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5- The figure represents two long koo (3131958 (Sl il gadf JSLAS Jiey -0
straight current carrying parallel | (2065 5LS Legin JS 2 o (C) (A)

wires (A) and (C) (Z )aazd) wie Jalas akazy e J gt
C A
Z
4)(—
x === 2A
A

Which of the following choices | de&! mowall ga AIL Oyl u.a:;u
represents the intensity and the $(C) udt 2 jLadt HLal olanilg
direction of the current in wire
(C) that

produces a neutral point at
point (Z)?

@ 2 A, in the same direction

in wi (A St L ol iy ;22 A
of the current in wire (A). (A) sl s 32 A (D)

@ 0.5 A, in the same direction

of the current in wire (A). (A) s 101251 i 2 05 A (D)

@ 0.5 A, in opposite direction

8\ (A) St HLEY ol 3 0.5A
to the current in wire (A). (A) Sk oot yuSe 2 @

@ 2 A, in opposite direction to

e (A) bt HLatt ol a2 A
the current in wire (A). (A) LG oSl e (o ®
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6- The graph represents the relation between

the magnetic flux density at the mid point of
the axis of a number of spiral coils

(L, M, N and O) and the current intensity
passing through them, If you know that all
the coils have the same number of turns

and their cores have the same magnetic
perimability then, the coil that has the
smallest length is the coil .......

BA(T)

O A8 Mall Lo | JSCad! Jiay =
aie uindoliaal | it ABLS
dd ot Olale due jaome CLavaitn
oladt et sasg (LLM,N,O)
Lg? Olatelt Ol crale 1ald (Lgy
Jolae udig Olall soe (puad
oo Y1 Asalas

98 Jolall B yaoli Lalddl ola
PP ]

@ N ® L

>I (A)

©M

@ o

7- Using the data illustrated in both figures

(1) and (2).

Which of the following relations represents
correctly the relation between magnetic
flux densities (B) at points C, and C,?

e doms gt Sl atusiwly -V

.(1)‘(2)‘;,.”45.:.3%,3“;,:‘
pevia Sy puald I LB gL
udoliaall yaal QBLS (pu A3l e

$C, (€, piitaiit! ie it (B)

IA A21
I
Cl
—> & «—>|
r r
Wb bjlste Oladius Ly Sy g g Oliuse Qlidl>
two long parallel straight wires two metallic rings of common center
(1) )
@) Bg, = Bg, =0 (® Bc, > B,

(© Bg, = Bg, # 0

[4]

@ Bc, < Bg,
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8- In the shown figure: AW YKl 2 -A
If the wire (X) is affected by a magnetic force | 84=>s dfé 894 (X) laad! 315 131
per unit length of 2x10° N/m rightwards due 2.X 1‘0| I}‘ém %""m “;’""'
to the effect of the magnetic flux results due to ‘L:d | > e Y Lﬁ
the passiqg current through the wire (Y) Then, |2~ 4 ‘:;""(‘;) Dy !”L; Ll
the magnitude and direction of (I) are ....... e 103955 () ol

(p=4nx10"Tn/A) i ooy | W= 4n X107 T/A ol Lele)
@ 2.5A-upward  Wire) wire(x) ¥ 254 (D
(b) 2.5 A - downward | el | Jau¥ 25 A Q@
@ 25 A - downward A Jaw¥ 25 A @
(@ 25 A - upward ¥ 254 (3)
2A I
9- A galvanometer is connected in serries Al e yegilals Jog -4

to a resistor of 2000 Q to convert it into
voltmeter as shown in the figure, so that ,
the maximum potential difference can be
measured by the voltmeter was 20.5V.

In order to measure a maximum potential
difference 10.25V. the resistor 2000 Q

must be replaced by a resistor of
resistance equals .......

1 4k 3233 291 2000 £ s laas
B OISD (ST LeS el 92
reeaid 9ol Ay dgx> 3,2
G2 (B ey S18 20.5V
¢ 10.25V 3Lt dway ags
2000 € 2o gliaatt JIotow! coom

or Ao glian
A
1=0.01A
® @
@) 1025 Q ® 1000 Q © 9750 @ 4000 Q
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10- In the opposite figure: | GG St o =Y e

e

RS
if the shunt is replaced to increase DL (g oe dad il @3 15)
the sensitivity of the device keeping S| PEN | [ WO PRERFEL JUAED
the current (I) constant, (1) HLad Luay 5l pal
which of the ratios below increases? 831335 AL il é;
/ 4 R R
9 _9 g _9
® - ® - © & ® -
s s eq s
11- At the moment of moving the magnet in 2 oudoliagdl Gl i dlast -\

the two directions (1) and (2) with the same 4l pudiy (2} $(D) o-{bl:.-nf'
velocity, e.m.f. of 0.5 V, is induced in the Coil, | &8ss -3 - dulell o2 g

. . . ahlas¥ gl 0.5V, La,luze
which of the following choices is correct at S5y itand L im0

the moment of moving the magnet? $ o liial!
(2)
. —
-
(1)
Ve L S
2V, :
(@) The Brightness of the lamp vanishes momentarily | =& W) ghuas!! sl pasi

on moving the magnet in the direction (2). (2) eloid) B pubolinall sy 5
(b) The Brightness of the lamp increases on moving | <3 4 a3 ghuasl|ssLia|
the magnet in the direction (2). {(2) olai¥1 b puloliaal
(©) The Brightness of the lamp remains constant on | 443 e s Jiigluadissliol
moving the magnet in both directions (1) or (2). | “(2)51(1) celadi¥l b pualisal
(@) The Brightness of the lamp increases on moving | <4 ¢ 3853 ghuadl 136L3)
the magnet in the direction (1). (1) oloi¥1 o usloliatt

© ® O O

[6]
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12- The figure illustrates a magnet moving with | & > Lidolise JSidl pingy -\ Y
velocity (v) to the left towards a solenoid ot cale g e (V) e e
connected to galvanometer. But there is no ‘d AT g e gilalony e
current induced in the coil, this is due to that 5Y teimiwe L Calells i g

the solenoid moves ....... e Sy sl
ot ale
Solenoid

N\

g

e gilal
Galvanometer
(@) With velocity (v) to the left. by (V) e (1)
(b) With velocity (2V) to the left. s 2V) e ps ()
(©) With velocity (V) to the right. Lew (V) 2o B
(@ With velocity (2V) to the right. Lres 2V) e s (3)
13- The figure represents a wire (AB) has 0.5Q diaglie AB cllus e gy gl -\ ¥
a resistance of (0.5 Q) moves usdalize Jlns ole Lagee oy

erpendicular to a magnetic flux of o
geggity (0.2T), In or(%er to obtain an el . 9'2&T as m...s
induced current of 0.1 A at the moment | ¢® <! JL 344 (65 S8
of the wire movement, the wire must oy 0-TA A8 pontt Aast 5 50400
move with a velocity equals ....... RUT-Y PP PSUPRICI (A [ JC3 JOSARY
(neglect the resistance of the connecting Wires) | ( Loagit &1k aaglie Jleat )

QA

X X X X

1.5Q X X X X
40 cm —>

X X XVX

X X X X

] R

CB
@ 1.5m/s @ 1.875m/s @ 2.5m/s @ 0.625m/s
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14- The opposite figure represents a uniform | Luutslize ;’la-»diaggim'dﬁm -\¢
magnetic field acts on wire (PQ) placed | (PQ) dltu Lo 53 Lotatia
in the same plane of the page. Aodiall (g s B p g9
If the direction of induced current from | &8 Coniuad! S slaxdt H1S 13)
(Q) to (p) so, the direction of motion of | ¢ (P) Akad I (Q) Az
the wire will be towards ....... e oLIW 8 053 LT S >

15- AC dynamo , its coil consists of 200 turns, | dale asluws 33 yie sl gebios -\e

has face area of 0.02 m? , and rotates in 29 4at 200 (pe (55 0.02m°
a magnetic field of flux density 0.02 T by | 483125553 6000 Juasy
0.00T &GBLS aurloline agd

a rate of 6000 rotations per minute.
5oudll Atlaall Ae@h (HeSia

Then, the effective value of the induced
e (G 9lud iiual! Aadlll!

e.m.fequals ....... o
Knowing that (t =3.14). (m=3.14) ok Lele

@) 3553V ® 25.12V © 1776 V @ 1256V
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16- The graph represents the relation between G2l piS Jray Gibed | JSatl -4
the change in the magnetic flux (Qp) that is | 4slads sW[D ] udoliaat!
O Ceele 318 [t] (e 3dly cale
;|.\_33 a2t 200 catat Slat sae
(G31gell i gl (e O 59l
AxdI AN 390 dawgie ()eSd

intercepted a coil and the time (t).

If you know that the coil consists of 200 turns
and starts its rotation from the parallel position.
Then, the average induced e.m.f in the coil

AN 005 I el 52 Bl
within a time interval of 0.2 s equals ....... oee $9kus 0.28
¢ (mMWb)
{0 S
10 +
t(s)
0.2

@ ov ® 60v © 30v @ 45v

[9]
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17- Two adjacent coils the mutual inductance | et Jolas Olyglaie Olate -\V
between them is (2H). The graph dsadly 2H Legin Jaliiat!
represents the relation between the RS (o A3l Sy Aled!
change of the electric current in the AV ated! o2 Hletl 5L

primary coil with time. (el e

1(A)

T t(s)

Which one from the following graphs | g=i 6% ol gsa¥ @
represents the relation between the Wilual! AadAt) 593t (s ABYlal|
induced electromotive force in the $pa 319 Ll alelt 2
secondary coil with time?

emf (v) emf (v) emf (v) emf (v)

4 4 4 —:

3 3 3 :

2 2 2

1 1 1

0 B e e
= § 1 1

=) -2 2

-3 3 3

AR 4 4

figure (4) figure (3) figure (2) figure (1)

@ figure (4) @ figure (2) @ figure (3) @ figure (1)
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18- If the shunt resistor in the hot wire ammeter | doe (gl ot twa¥1 8 -\A
is replaced by another of smaller value, and | s30T 5L & 3—2n0 JIbiw!

keeping the effective value of the electric L@l OLO g BT Aaid (60
current flowing through the circuit constant, | @2 k! e LAl Allaal
then ....... < OB B 1A

Thermal energy generated in the wire | total resistance of the ammeter
A3t ¥ g (LT Ul b 5.4 el Ayl ymd| 2B LAY e I 2SI degliadl

decreases J&3 increases 21333

increases a3 decreases J&s

®
@ decreases Jas decreases J&3
©
@

Increases 21333 increases 31333

19- The figure shows an oscillatory circuit 8 jige 3 y31a JSGd | i gy -\ 4
contains a capacitor of capacitance 200 [UF . | 4daw 2ise e (g9
.C=200F 2o ygs3t

What is the value of the inductance of | 51401 Coontt Jolae Aad Lad
the coil (L) required to obtain a current ol Jgmmtt 23501 (L) catelt
of frequency equals 100 Hz ? (n=3.14) § 535 100033 53 2 265 5143
(0= 3.14) obs Lale
@) 12.68 Henry .6, 12.68 (D
® 0.0127 Henry 6200127 @
(© 78.75 Henry .5,7875 &
@ 1.267x10°* Henry 652 1.267x10 (O
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20- An alternating current circuit where A gldaglie Lgsanyia HLia 0 -Y
a non-inductive Ohmic resistor, an Jogs G atag ol Agie
induction coil of negligible Ohmic
resistgnce and a capacitor Qf Vari.able g ole pabucie Al
capacitance are connected in series, ; T
using the diagram, The points where Ob2 bl Sty Laiwe
the potential difference between the two | “ead! 3,2 le@ (550 1 dolad
ends of the capacitor is greater than the | a,b ;o yiST aiSalt o ot (us
potential difference between the two e kel Byl (s g
ends of the coil are ....... i

e aiSa g dce g¥ | degliall

Point

F @
(@) point (2,3) 32y (1)
(b) point (4,5) (5ed)y o
(©) point (1,2) (2w
@ point (2,4 ) L(42) s ()
21- A photon of frequency (4.2 x 10" Hz) (4.2X10™ Hz) 033,5 (3558 -Y)

then, its linear momentum equals to ....... cee Solud AT Tyl deS (10
xéi.jt.;\c

Given that : (C=3x108m/s (C=3x108m/s
h= 6.625 X103 J.S) h= 6.625 X 10~% J.S)

(@) 9.275 x10"2 Kg m/s (b) 9.275 x107%Kg m/s
@ 9.275 X103 Kg m/s @ 9.275 X 10~ 2 Kg m/s
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22- A cathode ray tube works at a potential | 3,2 e Joaaiag5lS dasiasgnl -YY

difference 2000 V, while another tube 3140901y (2000V) wga
works at a potential difference 8000 V .(8000V) g 3,2 e Jaas
then, the ratio between: Oyt Aad | (9 ST

The wavelength of the associated wave to the emitted
electrons from the first tube cathode
19 A 00 daige (pe Adllaielt Olig oiSIM A Liael| A gall (o> gal! Jglat
The wavelength of the associated wave to the emitted
electrons from the second tube cathode
A0 A99.0Y1 daige (e Adlaielt Ol g ST A Liaalt A goll (oo galt Jglal

® % ® + © Ok

23- Which of the following graphs represents | s adtit a6t JISad G - Yy

the relation between the energy of the plail A8l oo ABMal o
radiation emitted from a black body and | o gett Jetatt g 35w muad
the wave length the radiated photons ....... eees dde 3)yakalt Oligh galt
figure (2) figure (1)
: (Y) st £ (V) gt
E figure (4) figure (3)
(£) gty y () asan
A A

@) figure(4) (b figure(l) (o) figure(3) (@) figure(2)
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24- From the figure, spectra 1 and 2 (1) o (I e I (0 -V £
respectively are ....... AL s Lad Cel it e (2) cadag
.. Bldas
G35 Thuae Spectrometer
Xenon lamp ] ) ada
cC—o— > Spectrum (1)
254 Sle> Spectrometer
Laser device ] (Y) o
) >~ Spectrum (2)

@ Continuous - Continuous. s — i
(&) Continuous - line emission. ‘lad Glad! - poluwe
(©) line emission - Line emission. (ad Glagl- s Sl

@ line emission - Continuous. s - glas Slag!

OO®OO
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25- The figure represents the relation

between the intensity of X-rays radiation
produced from Coolidge tube operating

at potential difference (V), and its
wavelength.

£ Ll 3ot

intensity of radiation
A

PN

> Jelalt
wave Iength

ABMall gy LS JSadl -Yo
Alewt AaaMW dad (yo
Aol Lgt o selt Jadally
e Jrand it oS Aygl (pe

Vg 3,0

K
On increasing both the filament current | ;LG 3u& (e JS 3200) diad

intensity and the potential difference

between the cathode and the anode

399%1 (p gt (3 B9 AL

e Ol2 0 gnIST
Which choice is the correct answer?
. Radiation
choice M aes Ay wed A3 deid . .
mtensity

®

Increases ala;s

Does not change
Jn A0 y

Does not change
Ju Al y

decreases Jas

decreases Jas

INcreases als ;3

Does not change
Ju A0 y

Does not change
J - A0 y

decreases Jas

Does not change
Ja A0 y

Does not change
J - e} y

INcreases als ;3

®|0|e

increases ala ;i

Does not change
J.. 0 y

Does not change
J - e} y

increases ala;i
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26- The phase difference between two laser | elad o yo-talt (8,8 HIS 13f =¥
rays after reflecting from an object 2T s (s Laguu|Sad) day 3o
equals 2 & then, the path difference | ----- Logon sluadt 3,0 (10
between the two rays equals .......

@) 2

27- The figure shows the production of 0955 WS s gy T IS YV
a halogram by using LASER. Al gl 9g11 5500
Which choice is considered the reference | J-ie3 a_G%1 S Las ¥ i
rays? S rolt Aad¥

/% Reflecting
ZLaY Sle / /% mirror
B (P PS1] -
Laser & LB
source / / // 1
A g
T object
Ll 52 5358
Photographic
plate
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28- The figure illustrates LASER photon | gLl adee (e s SILI JSl) YA
production from 2 gases (He) and «(Ne He)gile (po 53 ciligish
(Ne), knowing that both levels E, and | E; ¢« E; Omsiastt O ceale 3]
E, are metastable levels, 8yl decly 48 o Gl gioeh
which transmission represents the Ml Ales (e s OWLEBYI &
laser photon production? §y5d AadY g0
(@) Transmission (4). TR l(z) Tm AORETNE

E—— N
(b Transmission (3). o . (3) gy Q)
(© Transmission (2). 2) gany )
Y
. . (He)3 53 (Ne) 3 53 =,
(@ Transmission (1). oy At AT (1) gy (3)

A_
AND @} d
B_

29- Which of the following simple electric AL A pgSII 31 9l g_,.e:;i -Y4

circuits in the choices represents the Adlaiel Slal gl (s yuiad
combination of the logic gates fasusgal!
AL 2B [ ]
ol\ ’\:O l A ’EO l B ’EO
A A
ﬂ_ﬁs L T :IB T W W
(1) 39 (¥) 5531a (v) 3,31a (£) 3,908
Circuit (1) Circuit (2) Circuit (3) Circuit (4)
@ Circuit (1). (1) 3,50 @
@ Circuit (3). (3) 5,450 @
(© Circuit (2). (2)35 B
(@ Circuit (4). (s (3)

CCP/00C Jo¥l joadl — alpoll Aulnl) AA 1uj



YoYY/YoXY ol yull) plal) - J %1 gl - (A 2ubad ¥ ARUILY) 6Ly 5ot - Apalal) Aad - Aalall 2 93L0) Ayl ALEY Balgds (yloniel

30- According to the given figure.
The resistance of the diode in case of
forward connection is 2€2 and its resistance
in backward connection is infinite.
Which of the following choices is
the correct answer to obtain largest

e glie cilS 3] LSSt B -
20 Gole¥ Jio g1 AL B 3 gl
AALPY uSall o gl D> By
AL OGN e ‘5'
(=2 ASUgLwal! 3ya) Jass

$0Se Lo ST 7luael!
consumed power in the electric lamp? c
1 N
[IN L1
KZ
/
K1 KQD]
_|>|_ 1
Hi--
The
choice K K K
@ Closed stae Closed stae Closed stae
@ Closed stae Opened 7 g1a0 Opened 7 g1a0
@ Closed stae Closed stae Opened 7 5120
@ Closed stae Opened ¢ gize Closed stae
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31- In a transistor circuit, if the current of the | ae.d cols 13) ;g ;31,53 550 ;2 =T
emitter is 120 times as that of the base =8 5,0 120 (g9l celdt HLa

then, 0, equals ....... cee=(0l ) B8 Buclalt HLa

@) 0.96 ® 120
© 119 @ 0.99

. . . o\ :,
32- Which graph from the choices illustrates | aa%1 aoladt SLadMalt i -YY
the relation between the electrical Aogllt (e ABdal) sl

P . 2
conductivity for a pure semiconductor A (o 539l (pe JST Ay S
crystal and a copper wire as the oot e Sl A Juoge
temperature changes? §5,1 1 Ay 5 a5 e

figure (1) figure (2)
AL 1S Ao g . ALy S Ao o -
elec‘tri.c;ﬁlanéué;ii/ity ( \ ) d&mﬂ er;;trﬁcondtﬁ:vity (") d&mﬂ
ol Sl
copper wire
A o ge ol \\m\mﬂu
pure semiconductor copper wire
/— \pure semiconductor a3 Jusge duwi
ERJPRIF VN
éﬂemperature —_— Temperature 3! yaf! da s
ele]:‘t;r\i‘::;ﬁ::\ﬁjét:icity figure (3) e;:itu;::{:gmtﬁ:vity ﬁgure (4)
() Jsad (&) Jsad
A Juage A it
pure semiconductor copper wire
™ 2 Juose del
co";per wire pure semiconductor
EBIEES (T ST LIPS (ST
ékmperature éﬁmperature

@) figure (1) () figure 3) (© figure 2) (@) figure (4)
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33- In the electric circuit, if the voltmeter 31,8 oS 13 abilaat 13,50l LB - Y'Y
reading when the slider of the rheostat is | wie Gliwgs )1 38159 yieaid gat
at (A) was 12V. And when the slider is wel,89 2V (g gluws (A)ddai
moved to point (B) the voltmeter reading | atazu 31 @533 el o e
was 3V. 3V puai (B)
The value of the resistance taken from | zagslatt deglaatt dad oesia
the rheostat is ....... coe S 9kul Oliwga o (oo

@) 250 ® 300 © 15Q @ 200

34- Four wires of different materials, using Oy Ae glume eI Dl dayyl it -YE

the data on the figure, - 4aline 2lge
S il e OLLL Ladiiws

UM (P PP Py W [ (JELL TP {
51 pond! dn 53 (uultd s A pgS

which wire has the greatest

conductivity at the same temperature?

4L M
i 0w 0"
(2) (1)
2L . 5L
| = O
(4) )
@ wire 1 @ wire 2 @ wire 3 @ wire 4
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35- A current of intensity (I) passes in a
current-carrying coil which is placed in a
magnetic field of flux density (B), where
the coil plane makes an angle 60° with
the direction of the magnetic flux. If the
value of magnetic dipole moment is 4
times as the magnetic torque acting on
the coil, then the value of the magnetic
flux density (B) equals .......

@) 346T ® 2T

© 8T

(1) ordS LS 4 poy cale 10

gutdolias Jlae J51s 9o gag
alat ggiwe (B) and aalis
o

e (60) Lajud agly pua
B (udoliaadl yaall olail
cdadtl LS a e Hlade Ol Coele
z'95¥ 1 aje Hlude Jlial 4 (6 glu

aledf e y5all pucdsLiaat!
ol ABES A Ge HlB

e St (B) o lizaty

36- A wire (X)carries a current of intensity

(D) placed in a different magnetic fields
as shown in the figures

2A

2A

C)) 3

Which of the following choices
represent the correct arrangement to
the value of the magnetic force acting
on the wire according to each figure

@ F>F>F~=F,
(©) F>F>F>F,

2A - - - - =

o (1) i ) 1 5o (X) s =¥

LoS daline dcwdolians O¥lna 3
a3 3 S o Les b (st
e 8,001 598N Hluliad moouall

] 3A
n
X X
2) 1)

@ FZZ F3>F1:F4
@ F1> F2:F3: F4
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37- In the ohmmeter circuit shown in o 95 i domin g | o g W13 508 S8 =TV
the figure when another resistance is Wggamall Logliall I g5l Loglia
connected to the unknown resistance (R,) | 11 jagalt oo ol Mgl e (R)
in series, the pointer deflects to — from
the scale of the galvanometer.

Then the value of the connected resistance | <! oY1 Zaglaal) A o2
1S ....... oo g 9lus lgluoyl @3

e gilalod| oy )i (e g

38- You have a DC electric b C [ POSIPRTIIIN I N
motor consists of a i (i S
single coil that started 095 potiusn
its movement from a Alg cale (ye
position parallel to the N S e 4TSy T
flux lines as in the figure, $lg—atl g8t

oasall do glast

a d LeS (sl lial!
T oo

[ |
| [
when the coil rotates by 60° clockwise, |60 dgl j calet 128 o393 Lic g
therefore: cee 12 Aeludt Oylie slani! pe

@ The torque remains constant 0lga o3 Lulh o plga¥pje

@ The force on the side (bc) = half the | be alialile 35503155411

©® 000

maximum value roandl ha @l Cauad (6 glus

: o V3 (gl g1933¥ 1 p3e

@ The torque =§fr0m the maximum value 2" Ty C!. P
@ The force on the side (ab) remains constant | .zl g ab plaall le 553139301
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39- The shown graph represents the change | paal! pas S JSadl migs ¥4
of magnetic flux that intercepts el cale B slatl undsliaal
a dynamo coil of 200 turns and the time. O3 e 21 200 45lat sue
Then, the instantaneous e.m.f that is Adasmill dadidll 552t Gl
produced in the coil after 0.1 ms from 0.1 mS day alelt 2 548 gkal!
the start of the coil rotation equals ....... wee (ggbud Syl Aty e
(m=3.14). (m=3.14) b Lele
D, (uwb)
2
t(ms)
2
@ 0.0025v  (® 025V © 0025V (@ 0.00025V
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40- In the figure an inductive coil of negligible | ¢ ale pugedl Jsatt o -¢-
ohmic resistance, if %4 of the coil is cut Lo (Log¥ dagliall Jege)
and the rest of the coil is connected to the | L&L31 Jew g3y catadt % oad
circuit without changing any other factors, | . Lofgall 8L o (gas 501 L2

the correct choice is ....... $ oo (1958 AT ,@sméi
AV (1

S

@ The phase angle decreases by 8.13° | 8.13° sluzes yelali gl Jai @

@ The phase angle decreases by 36.87° | 36 87° jluda yskal 4yl Jais @
(©) The phase angle decreases by 30.96° | 30,96° yluzes glal gl Jai @

@ The phase angle decreases by 14. 04° | 14.04° jluze jslati a1y Jas @

41- From the given data in the figure the value | :JSatl dous salt SLiLLdt (o - £
of the electromotive force of the source of | aa,<ialt juael! dgs o3-S

alternating current equals ....... | L. o)ldZe
0.2A 0.4H 0.2H
@) 20V
0.2H 0.1H
® 40V
© 120V N
@F:@ Hz
@ 80V m
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42- The figure represents two capacitors (1) and | .(2) (1) (eaiSe Jtas JSiult €Y
(2), the capacitor (1) is charged with a charge | aiaay ogmie (1) caisals
of 60 LLC. and the capacitor (2) is uncharged. & (2) wisadly 60pC

On closing the switch (k). V) i ot Al
. Laad! .
which of the following choices (K) ghidel! 3i& iad -Ogoniin

represents the charge on the two b gL O yLas ;9‘4
capacitors (1) and (2). (2) (1) puaisalt Lo dimid
+ —
|
the the charge Q1 the charge Q2 * |_
choice Q1 sl Q2 diaill C,=C
@ 40 LC. 20 LC.
® 20 . 40 pc. | -
(K)
© 30 pc. 30 pc.
C,=2C
@ Zero. 60 LLC.

43- In order to examine a virus of 20 nm =2 (V) s 3,8 posial -EY
dimensions, a potential difference (V) 98 209 ,T g yISTf L gSw g ySn
1s used, in order to examine another Ly Se oS ¢ 20nm oslal
virus of dimensions 15 nm the potential 150m sslasi y27 ug it
difference must be ....... oo Al | gt ! (9,2 L0
@) Increased by 0.78 V. 0.78V yiuzes aislsy ()
(® decreased 0.78 V. 0.78V jludes amzs (Q)
(©) Increased by 1.78 V. 178V sluaes iy (3)
(d) decreased by 1.78 V. 178V jiszes aazs (2)
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44- A photon hits an electron in the ground S gunedl B (g, S e (9398 daduw - ¢

state of Hydrogen atom, as a result the Q01 (g ugl) By0d iy
electron moved to excitation level (N) (N) 3,831 5 gus 11 o9 821
: QL‘ Lle

(e=1.6x10"C, h=6.625%107*].s, c=3%10%m/s)

Which of the choices expresses the incident O9gall > gel) Jodall Olo
photon’s wavelength? e = 2oL

@) 1.56 x 102 m
® 1.56x10%m
(© 9.74x 102 m
@ 9.74x 10*m
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45-

Through transferring electric energy from a

power station of potential 25 x 10°V,

the potential difference at one of the

transition towers was 132 x103V,

if the cables resistance between the tower

and the transformer is 7500 Q, and the

value for the current passing in them is 2A,

Calculate:

1- The potential difference between the
two terminals of the secondary coil.

2- The current passing in the primary
coil of the transformer.

Ad o) Akaseo
power station

la-

adllall Ja Jolpe Gu! B -80

Gt gl ddase (po Gt pgSI|
plasiwli25 X 103V Laugs
B0 OIS e i peS Jgome
JEd) gl asl e gt
daglie calsy 132 X 103V
Jsmally gl (s JAU I Sha]
obatt ity (75008 (5ol
2A wiad g
O e 352 - s
g atell A ke
S 9onall ALY Caledf LS - ¥

ALie Joxme
Ideal transformer

46-

A monochromatic light of frequency
(6x10'* Hz) falls on the cathode of

a photoelectric cell, so electrons of
maximum kinetic energy (1eV) are
emitted. When another light of frequency
(X) Hz falls on the same cathode of the
photoelectric cell, the maximum kinetic
energy of the emitted electrons is
(0.38eV), Calculate the light frequency (X).
Knowing that:

033 3 (el é'.\l;-i s Jadu
s 438 e 6 X 10"HZ
Oligy sl Cladld adgdg S
wiey(1eV) ggumatilgs p 28l
e (X) 0235 p31 £ 4o o giu
ddigid g pgSIN AUSTI 3 g3IS (g (e
Gl g ,SSI M 4S p 4By b colSh
«(0.38eV) daaciat

(X)) ¢ guadt 33 )T cuwn |
xéLjL;-‘-C

(charge of electron = 1.6x10-"°C,
Planck’s constant h = 6.625x1073].s)
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